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Instructionsfortheparents:-

Parentsareexpectedtoensurethatthechildunderstands,learnsandisabletodotheexercises
followedbytheexplanation.Parentsshouldalsoseetoitthatthechildkeepsonrevisingtheprevious
topics.

Successor and Predecessor

Successor:-Thenumberthatcomesjustafteranumberiscalled it'ssuccessor.

*Wecangetthesuccessorofanumberbyadding1toit.

Forexample:- 74541+1=74542

85614+1= 85615

35265+1=35266

Predecessor:-Thenumberthatcomesjustbeforeanumberiscalledit'spredecessor.

*Wecangetthepredecessorofanumberbysubtracting1fromit.

Forexample:- 34689-1=34688

93334-1=93333

65897-1=65896

Skipcounting:-Inskipcountingwestartwithagivennumberandwritemorenumberswithafixedgap
betweenthesuccessivenumbers.

Forexample:-
Countingby2's:-Gapoftwobetweeneverytwosuccessivenumbers.

Countingby10's:-Gapof10betweeneverytwosuccessivenumbers.

Counting by100's:-Gapofhundredsbetweeneverytwosuccessivenumbers.

Example1 :-Countingbyfourswritefournumeralsfrom 60,285



Solution:- 60,285+4=60,289; 60,289+4=60,293; 60,293+4=60,297; 60297+4=
60,301

Thenumeralsare:-60,289; 60,293; 60,297; 60,301.

Example2:-Countingbytwohundredswritefournumeralsfrom6,71,147

Solution:- The numeralsare:- 6,71,147+200=6,71,347; 6,71,347+200=6,71,547 ;6,71,547
+200=6,71,747.;6,71,747+200 =6,71,947.

Exercise:-1

Q:-1Writethepredecessorofeachofthefollowing-

a) 70513
Ans___________

b) 988345
Ans___________

c) 456890
Ans___________

d) 900584
Ans___________

e) 321549
Ans___________

Q:-2Writethesuccessorofeachofthefollowing-

a) 165987
Ans_________
b) 432159
Ans_________
C) 992561
Ans_________
d) 554876
Ans_________
e) 854960
Ans_________

Q:-3 Writethenexttwonumbersforeachofthefollowing-

a)892399
Ans_______,_________
b) 289500
Ans_______, _________
C) 355922
Ans_______ ,_________
d) 452689
Ans________,_________
e) 651183
Ans________,_________

Q:-4Writetwonumbersthatcomejustbeforeeachofthefollowing-



a) 61035
Ans_______,________
b) 272108
Ans________,________
c) 965211
Ans________,________
d) 115689
Ans________,_________
e) 99564
Ans________,________

Q:-5Writetwonumbersthatcomeinbetween

a)84192. and. 84195
Ans________,_________
b)772296 and 772299
Ans________,_________
c) 855326 and 855329
Ans________,_________
d)963963 and 963966
Ans_________,_________
e) 45666. and 45669
Ans__________,_________

Q:-6Countingbysevenswritefournumeralsfrom32385.

Q:-7Countingbyten thousandswritefournumeralsfrom832000.

Q:-8Countingbyfortieswritefournumeralsfrom32,385.

Q:-9Countingbythreehundredswrite fournumeralsfrom67,400.

Q:-10Counting byonelakh writefournumeralsfrom5,75,400

COMPARISON OFNUMBERS

Thesignsofcomparison-

*Theequaltosign (=)showsthatnumbersonboththesideshavethesamevalue.

Forexample:- 100=100
58641=58641

*Thegreaterthansign(>)showsthatthenumberonthelefthasagreatervaluethanthatontheright.

Forexample :- 134>122
33147>22649

*Thelessthansign (<)showsthatthenumberonlefthasasmallervaluethanthatontheright.

Forexample :- 422 < 694
73147<73874

COMPARISONOFNUMBERSWITHDIFFERENTNUMBEROFDIGITS-



*Iftwonumbershavedifferentnumberofdigitsthenthenumberwithmoredigitsisalwaysgreater.

Forexample :-22,218isafivedigitnumberand 1,23,148isasixdigitnumber.
Then 1,23,148 > 22,218

*Wecanalsosaythatthenumberwithlesserdigitsisalwayssmaller.

22,218<1,23,148

COMPARISONOFNUMBERSWITHSAMENUMBEROFDIGITS-

*We startfrom leftandgooncomparingthedigitsuntilwefindtwodigitsthataredifferent.

Forexample-

Compare 68,626and 52,856

Tth. Th. H. T. O.
6 8 6 2 6

5 2 8 5 6

Solution:-Firstweconsiderthedigitsinthetenthousandsplace-

As6- tenthousands > 5-tenthousands

68,626>52856

Also 52,856<68,626

ASCENDING. AND DESCENDING ORDER-

*Ascendingorder:-Ascendingorderorincreasingorderisthearrangementofnumbersfromsmallestto
greatest.

Descendingorder :- Descendingorderordecreasingorderisthearrangementofnumbersfrom
greatesttosmallest.

LARGESTANDSMALLESTNUMBERSUSINGGIVENDIGITS:-

*Ifdigitsarenotrepeated:-

*Towritelargestnumberwewritethedigitsindescending order.

*Towritesmallestnumberwewritethedigitsinascendingorderifwedon'thave '0'asoneofthedigit.

*If0isoneofthedigitsthenweexchangeitwiththenexthigherdigit.

Exercise:-2

Q:-1Whichisthesmallernumberineachofthefollowingpairs?Putthecorrectsign.

a)27,046and37,592
b)97,216 and56,316



c) 2,27,572and5,22,715

Q:-2Whichisthegreaternumberineachofthefollowingpairs?

a)6,34,863and 6,39,712
b) 90,871 and 4,75,432
c) 5,63,167and5,72,163

Q:-3Arrangethefollowinginascendingorder-

a)78,282 ; 74,581 ;1,17,908 ; 33,467

b)2,34,123 ; 7,18,594. ; 4,81,742. ; 2,26,741

c)3,31,464 ; 1,03,084 ; 9,17,854 ; 8,86,781

Q:-4Arrangethefollowingindescendingorder-

a) 8,86,147 ;9,07,165 ; 3,31,468 ; 7,34,123

b) 6,68,412 ; 2,29,075 ;1,07,584 ;3,30,814

c) 9,55,671 ; 6,63,141 ; 3,08,011 ;4,41,862

Exercise :-3

Q1-Makethelargestandthesmallestnumbersusingthedigitsgivenbelow.Repetitionofdigitsisnot
allowed -

a) 9,6,4,8,2
b) 1,4,5,8,0
c) 6,9,4,5,1

Q-2Makethelargestandthesmallest6digitnumbersusingthegivendigits.Youmayrepeatthedigits.

a) 1,3,2,5,6,8
b) 0,2,3,6,4,9
c) 4,2,1,7,6,8

***************************************************END******************************************


